AQAF

region
MARK SCHEME
Q1. Accept Mark
1 P+N 1
2 |P 1
3 |N 1
4 (P 1
Q2. Accept Mark
1 | Likes E 1
Dislikes C 1
2 | Likes H 1
Dislikes M 1
Q3. Accept Mark
1 |B 1
2 |A+B 1
3 |A 1
4 (A+B 1
Q4. Accept Mark
1 |P N 2
2 |P+N P+N 2
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GCSE Spanish (Higher and Overlap)

Home, town, neighbourhood and region —- MARK SCHEME

Q5. Accept (in any order) Mark
1 |C 1
2 |[D 1
3 |F 1
Q6. Accept Reject Mark
1 They haye very little time to be 1
with their children.
2 Moved house and work in 1
villages
3 | His rentis no longer as high as in
the capital.
His rent isn’t as high / the rent is 1
lower than the capital.
4 | (Sometimes) broadband does not | low salaries
work well. broadband does not work 1
Q7. Accept Mark
1 C 1
2 A 1
3 C 1
Q8. Accept Mark
1 [A+B 1
2 |A 1
3 |B 1
4 |A+B 1
Q9. Accept Reject Mark
1 She likes the people best / more | She likes the people 1
She prefers the people
2 It neeqs a (swi.mmir\g) pool / They need a new (swimming) 1
there is no (swimming) pool pool
3 | She worries (about it) sometimes | She worries about it (a little) 1
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GCSE Spanish (Higher and Overlap) Home, town, neighbourhood and region — MARK SCHEME

Q10. Accept Mark
1 B 1
2 (D 1
3 |C 1
4 |E 1
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